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QUESTION 1

Click on the exhibit. 

In the topology shown, router R1 is an ASBR configured to export external routes to OSPF. There are no stub or NSSA
areas. Which of the following regarding LSAs is TRUE? 

A. Router R3 will advertise Type 7 LSAs to Area 0 and Area 2. 

B. Only routers R2 and R3 receive Type 5 LSAs advertised by router R1. 

C. Router R2 will receive Type 5 and Type 7 LSAs. 

D. Router R7 will receive Type 5 LSAs advertised by router R1. 

Correct Answer: D 

 

QUESTION 2

Which of the following TLV fields is included in an IS-IS Hello packet? 

A. Area addresses TLV Intermediate system neighbors TLV Authentication information TLV 

B. Intermediate system neighbors TLV Area addresses TLV LSP entries TLV 
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C. The IP internal reachability information TLV Area Addresses TLV Authentication Information TLV 

D. The IP external reachability information TLV Area addresses TLV Intermediate system neighbors TLV 

Correct Answer: A 

 

QUESTION 3

Which of the following statements regarding IS-IS Hello packets are true? Choose two answers. 

A. Different types of Hello packets are exchanged on point-to-point networks than on broadcast networks. 

B. L1/L2 Hello packets are exchanged on broadcast links. 

C. Different L1 and L2 Hello packets are exchanged on broadcast links. 

D. By default, Hello packets are sent every 5 seconds, and the timeout to declare a neighbor down is 15 seconds. 

Correct Answer: AC 

 

QUESTION 4

What value should the AFI be set to for locally administered addressing? 

A. 1 

B. 49 C. 83 

D. 0 

Correct Answer: B 

 

QUESTION 5

Click on the exhibit. 
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Which router is the designated router for the broadcast network? 

A. 10.10.10.2 

B. 10.10.10.3 

C. 10.10.10.6 

D. There is not enough information given to determine the designated router. 

Correct Answer: B 
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